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SURFACE AREA AND VOLUME OF A
RIGHT CIRCULAR CYLINDER



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The height of a right circular cylinder is
10. 5. Three times the sum of the areas of its
two circular faces is twice the area of the
curved surface. Find the volume of the

cylinder.

o Watch Video Solution

2. A well with 14m diameter is dug 8m deep.
The earth taken out of it has been evenly

spread all around it to a width of 21m to form


https://dl.doubtnut.com/l/_vaXpl5e9FgFo
https://dl.doubtnut.com/l/_Kq55RXafi1Y7

an embankment. Find the height of the

embankment.

° Watch Video Solution

3. The cost of painting the total outside
surface of a closed cylindrical oil tank at 60
paise per sq. dm is Rs. 237.60. The height of
the tank is 6 times the radius of the base of
the tank. Find its volume correct to two

decimal places.

° Watch Video Solution



https://dl.doubtnut.com/l/_Kq55RXafi1Y7
https://dl.doubtnut.com/l/_iriAsKiJs6Ce

4. A lead pencil consists of a cylinder of wood
with a solid cylinder of graphite filled in the
interior. The diameter of the pencil is 7 mm
and the diameter of the graphite is 1 mm. If
the length of the pencil is 14 cm, find the

volume of the wood and that of the graphite.

o Watch Video Solution

5. Find the weight of a lead pipe 3.5m long, if

the external diameter of the pipe is 2.4cm and


https://dl.doubtnut.com/l/_iriAsKiJs6Ce
https://dl.doubtnut.com/l/_q93s9Pxw6zkv
https://dl.doubtnut.com/l/_dacJCSahB0ii

the thickness of the lead is 2mm and 1 cubic

cm of lead weighs 11gm.

° Watch Video Solution

6. It costs Rs. 2200 to paint the inner curved

surface of a cylindrical vessel 10m dep. If the

cost of painting is at the rate of Rs. 20 per
2

m~, find: radius of the base Capacity of the

vessel|?

° Watch Video Solution



https://dl.doubtnut.com/l/_dacJCSahB0ii
https://dl.doubtnut.com/l/_yCEoy0yiAS2a
https://dl.doubtnut.com/l/_odnkDFVSnUZ6

7. The cost of painting the total outside
surface of a closed cylindrical oil tank at 50
paise per square decimetre is Rs. 198. The
height of the tank is 6 times the radius of the
base of the tank. Find the volume corrected to

2 decimal places.

o Watch Video Solution

8. The ratio between the radius of the base

and the height of a cylinder is 2:3, find the


https://dl.doubtnut.com/l/_odnkDFVSnUZ6
https://dl.doubtnut.com/l/_lJz8rg8sEIGS

total surface area of the cylinder, it its volume

is 1617 cm?®.

o Watch Video Solution

9. At a Ramzan Mela, a stall keeper in one of
the food stalls has large cylindrical vessel of
base radius 15cm filled up to a height of 32cm
with orange juice. The juce is filled in small
cylindrical glasses of radius 3cm upto a height

of 8cm, and sold for Rs. 3 each. How much


https://dl.doubtnut.com/l/_lJz8rg8sEIGS
https://dl.doubtnut.com/l/_xsyoqm32EBWM

money does the stall keeper receive by selling

the juice completely?

° Watch Video Solution

10. A solid cylinder has total surface area of
462 square cm. lts curved surface area is one-
third of its total surface area. Find the volume

of the cylinder. (Take m = 22 /7)

o Watch Video Solution



https://dl.doubtnut.com/l/_xsyoqm32EBWM
https://dl.doubtnut.com/l/_wSyztS8iiOoD

1. A metal pipe is 77cm long. The inner
diameter of a cross section is 4cm, the outer
diameter being 4.4 cm. Find its inner curved
surface area. outer curved surface area. total

surface area.

o Watch Video Solution

12. A rectangular sheet of paper

44cm AN D18cm is a rolled along its length


https://dl.doubtnut.com/l/_mRmzuqmZtIdF
https://dl.doubtnut.com/l/_AXt8C0dw5A0V

and a cylinder is formed. Find the radius of the

cylinder.

° Watch Video Solution

13. The diameter of a garden roller is 1.4m and

it is 2m long. How much area will it cover in 5

' 22
revolutions? (Use m = —)

7

° Watch Video Solution



https://dl.doubtnut.com/l/_AXt8C0dw5A0V
https://dl.doubtnut.com/l/_1TjzonEMqaWs

14. The diameter of a roller is84 cm and120cm
long. If it take 500 complete revolutions to
level a playground, determine the cost of
levelling it at the rate of 30 paise per square

metre.

o Watch Video Solution

15. A metal pipe is 77cm long. The inner
diameter of a cross section is 4cm, the outer

diameter being 4.4 cm. Find its inner curved


https://dl.doubtnut.com/l/_mdi9qfz3Nyuk
https://dl.doubtnut.com/l/_eEHCYnSJqe1T

surface area. outer curved surface area. total

surface area.

° Watch Video Solution

16. In Fig. 1312, you see the frame of a
lampshade. It is to be covered with a
decorative cloth. The frame has a base
diameter of 20 cm and height of 30 cm. A
margin of 2.5 cm is to be given for folding it

over the top and bottom of the frame. Find

° Watch Video Solution



https://dl.doubtnut.com/l/_eEHCYnSJqe1T
https://dl.doubtnut.com/l/_Q0bfzvnR4uy7

17. The total surface area of a hollow cylinder
which is open from both sides is 4620 sq. cm
area of base ring is 115.5 sq. cm and height 7

cm. Find the thickness of the cylinder.

° Watch Video Solution

18. A cylindrical vessel, without lid, has to be
tin-coated on its both sides. If the radius of

the base is 70cm and its height is 1.4 m,


https://dl.doubtnut.com/l/_Q0bfzvnR4uy7
https://dl.doubtnut.com/l/_XevGDutTYZnT
https://dl.doubtnut.com/l/_2XYOi6u3cvcY

calculate the cost of tin-coating at the rate of

Rs. 3.50 per 1000cm?>.

o Watch Video Solution

19. The students of a Vidyalaya were asked to
participate in a competition for making and
decorating pen holders in the shape of a
cylinder with a base, using cardboard. Each
pen holder was to be of radius 3cm and height
10.5 cm. The Vidyalaya was to supply the

competitors with cardboard. If there were 35


https://dl.doubtnut.com/l/_2XYOi6u3cvcY
https://dl.doubtnut.com/l/_rRFfPypqUTHo

competitors, how much cardboard was

required to be bought for the competition?

° Watch Video Solution

20. A cylindrical tube, open at both ends, is
made of metal. The internal diameter of the
tube is 10.4cm and its length is 25cm. The
thickness of the metal is 8mm everywhere.

Calculate the volume of the metal.

° Watch Video Solution



https://dl.doubtnut.com/l/_rRFfPypqUTHo
https://dl.doubtnut.com/l/_1CoFJTbPALDy
https://dl.doubtnut.com/l/_aBmjmliZsanO

21. Water flows out through a circular pipe
whose internal diameter is 2cm, at the rate of
6 metres per second into a cylindrical tank.
The radius of whose base is 60cm. Find the

rise in the level of water in 30 minutes?

o Watch Video Solution

22. A well with 10m inside diameter is dug
8.4m deep. Earth taken out of it is spread all

around it to a width of 7.5m to form an


https://dl.doubtnut.com/l/_aBmjmliZsanO
https://dl.doubtnut.com/l/_6lHQXxrRvy6h

embankment. Find the height of the

embankment.

° Watch Video Solution

23. The sum of the radius of the base and
height of a solid cylinder is 37m. If the total
surface area of the solid cylinder is 1628m?,

find the circumference of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_6lHQXxrRvy6h
https://dl.doubtnut.com/l/_ZkS3Z0WM5wxq

24. The thickness of a hollow wooden cylinder
is 2cm. It is 35cm long and its inner radius is
12cm. Find the volume of the wood required to
make the cylinder, assuming it is open at

either end.

o Watch Video Solution

25. The circumference of the base of a cylinder
is 132 cm and its height 25cm. Find the volume

of the cylinder.

| & I


https://dl.doubtnut.com/l/_QBqHyxFkA3HA
https://dl.doubtnut.com/l/_K1g7Ge4gdGAb

| ¥ Watch Video Solution |

26. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.

o Watch Video Solution

27.Twenty cylindrical pillars of the Parliament
House are to be cleaned. If the diameter of

each pillar is 0.50m and height is 4m. What


https://dl.doubtnut.com/l/_K1g7Ge4gdGAb
https://dl.doubtnut.com/l/_qjiU7A9hnu2M
https://dl.doubtnut.com/l/_Gtsv8rOMCD6d

will be the cost of cleaning them at the rate of

Rs. 2.50 per square metre?

° Watch Video Solution

28. Into a circular drum of radius 4.2 m and
height 3.5m, how many full bags of wheat can
be emptied if the space required for wheat in

each bag is 2.1 cubic m. (Take m = 22 /7)

o Watch Video Solution



https://dl.doubtnut.com/l/_Gtsv8rOMCD6d
https://dl.doubtnut.com/l/_qn3hC7gjkyJO

29. A solid cylinder has total surface area of
462 square cm. lts curved surface area is one-
third of its total surface area. Find the volume

of the cylinder. (Take 7 = 22/7)

o Watch Video Solution

30. If the radius of the base of a right circular
cylinder is halved, keeping the height same,
what is the ratio of the volume of the reduce

cylinder to that of the original.

| & |


https://dl.doubtnut.com/l/_phlAVnfGxIXV
https://dl.doubtnut.com/l/_dChxLFttD1Ms

| ¥ Watch Video Solution |

31. A cylindrical road roller made of iron is Tm
wide. Its inner diameter is 54cm and thickness
of the iron sheet rolled into the road roller is
9cm. Find the weight of the roller if 1 c.c. of

iron weight 8 gm.

o Watch Video Solution

32. The diameter of a cone is 14cm and its

slant height is 9cm. Find the area of its curved


https://dl.doubtnut.com/l/_dChxLFttD1Ms
https://dl.doubtnut.com/l/_5XEiPFjMg4uT
https://dl.doubtnut.com/l/_9iO6XwXkxHsP

surface.

o Watch Video Solution

33. The difference between outside and inside
surface of a cylindrical metallic pipe 14cm long
is 44cm? . If the pipe is made of 99cu
centimetres of metal, find the outer and inner

radii of the pipe.

o Watch Video Solution



https://dl.doubtnut.com/l/_9iO6XwXkxHsP
https://dl.doubtnut.com/l/_QoZ0lIDdQnl6

34. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

o Watch Video Solution

35. The volume of metallic cylindrical pipe is
748cm? . Its length is 14cm and its external

radius is 9cm. Find its thickness.

o Watch Video Solution



https://dl.doubtnut.com/l/_cYKfpfIQN3eE
https://dl.doubtnut.com/l/_ObYKnpcSpQDI
https://dl.doubtnut.com/l/_A6ufM6S6V4Zm

36. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (Useﬂ = 7)

° Watch Video Solution

37. The circumference of the base of a 10m
high conical tent is 44 metres. Calculate the

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_A6ufM6S6V4Zm
https://dl.doubtnut.com/l/_haySMFL1NfZy

38. How many metres of cloth 5m wide will be
required to make a conical tent, the radius of

whose base is 7m and whose height is 24m?

Taker = -
CL€7T—7

o Watch Video Solution

39. The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

| s ]


https://dl.doubtnut.com/l/_XOSJ6U8UiMkW
https://dl.doubtnut.com/l/_30V7Zk66axDz

| ¥ Watch Video Solution ]

40.The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface.

o Watch Video Solution

41. A corn cob (see Fig. 13.17), shaped
somewhat like a cone, has the radius of its
broadest end as 2.1 cm and length (height) as

20 cm. If each 1em? of the surface of the cob


https://dl.doubtnut.com/l/_30V7Zk66axDz
https://dl.doubtnut.com/l/_F1pgU3tQp4q4
https://dl.doubtnut.com/l/_PnekWiLtnzfB

carries an average of four grains, find how

many grains you would find on the entire cob?

° Watch Video Solution

42. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

| e |


https://dl.doubtnut.com/l/_PnekWiLtnzfB
https://dl.doubtnut.com/l/_p15DaKvxfyaz

& watch Video Solution I

43. Monica has a piece of Canvas whose area is
551m?. She uses it to have conical tent mode,
with a base radius of 7m. Assuming that all the
stitching margins and wastage incurred while
cutting, amounts to approximately 1m?. Find
the volume of the tent that can be made with

it.

° Watch Video Solution



https://dl.doubtnut.com/l/_p15DaKvxfyaz
https://dl.doubtnut.com/l/_8s677VtmTBJx

44, If the radius of the base of a cone is
halved, keeping the height same, what is the
ratio of the volume of the reduced cone to

that of the original.

° Watch Video Solution

45. The base radii of two right circular cones
of the same height are in the ratio 3:5. Find

the ratio of their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_LdxZ2Xu6yMn4
https://dl.doubtnut.com/l/_BGp9PhFlpqy8

46. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC is revolved about side 5cm,
then find the volume of the solid so obtained.
Find also the ratio of the volumes of the two

solids obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_BGp9PhFlpqy8
https://dl.doubtnut.com/l/_LQsti3ZrdWbw

47. A heap of wheat is in the form of a cone of
diameter 14m and vertical height 51cm,
supposing the material of which it is made

weight 10 grams per cubic cm.

o Watch Video Solution

48. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres

of the space on the ground and 20 cubic


https://dl.doubtnut.com/l/_XXKFwRA7BIWX
https://dl.doubtnut.com/l/_9vhDbtV7wS2g

metrs of air to breath. Find the height of the

cone.

° Watch Video Solution

49, A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

° Watch Video Solution



https://dl.doubtnut.com/l/_9vhDbtV7wS2g
https://dl.doubtnut.com/l/_LIiLDIYjTuG8

50. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution

51. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If heights are some with the same base, find

the ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_BB063sz36KAn
https://dl.doubtnut.com/l/_ofuJ8W8gbuOS

52. A conical tent is 10m high and the radius of
its base is 24m. Find the slant height of the
tent. If the cost of 1m? convas is Rs. 70, find

the cost of the canvas required to make the

tent.

o Watch Video Solution

53. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.


https://dl.doubtnut.com/l/_ofuJ8W8gbuOS
https://dl.doubtnut.com/l/_B7FasF8NJOzH
https://dl.doubtnut.com/l/_fsvlLiP8Fuol

° Watch Video Solution

54. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution

55. Find the ratio of the surface areas of two

cones if their diameters of the bases are equal


https://dl.doubtnut.com/l/_fsvlLiP8Fuol
https://dl.doubtnut.com/l/_m1EimrCbscZg
https://dl.doubtnut.com/l/_Cdmbu08RUO8c

and slant heights are in the ratio of 4:3.

o Watch Video Solution

56. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

57. A bus stop is barricaded from the

remaining part of the road, by using 50 hollow


https://dl.doubtnut.com/l/_Cdmbu08RUO8c
https://dl.doubtnut.com/l/_FX1IieOkqlJr
https://dl.doubtnut.com/l/_FrV35Y6ZnZV3

cones made of recycled card-board. Each cone
has a base diameter of 40cm and height 1m. If
the outer side of each of the cones is to be
painted and the cost of painting is Rs. 12 per

m? , what will be the cost of painting all these

cones (Use7r = 3. 14and+/1. 04 = 1. 02))

O Watch Video Solution

58. A heap of wheat is in the form of a cone
whose diameter is 10.5 m and height is 3 m.

Find its volume. The heap is to be covered by


https://dl.doubtnut.com/l/_FrV35Y6ZnZV3
https://dl.doubtnut.com/l/_kUUv44pQ7edQ

canvas to protect it from rain. Find the area of

the canvas required

° Watch Video Solution

59. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

° Watch Video Solution



https://dl.doubtnut.com/l/_kUUv44pQ7edQ
https://dl.doubtnut.com/l/_no5ezFKznkCJ

60. The area of the base of a right circular
cone is 314cm? and its height is 15cm. Find the

volume of the cone.

o Watch Video Solution

61. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.


https://dl.doubtnut.com/l/_no5ezFKznkCJ
https://dl.doubtnut.com/l/_qsyef2iB6x6u
https://dl.doubtnut.com/l/_9Ru5h0Ot5Rjp

° Watch Video Solution

62. A cone of height 24cm has a curved surface

area 550cm>. Find its volume.

Tak _22
aeﬂ'—T

° Watch Video Solution

63. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres

of the space on the ground and 20 cubic


https://dl.doubtnut.com/l/_9Ru5h0Ot5Rjp
https://dl.doubtnut.com/l/_zdew0B4FEL7h
https://dl.doubtnut.com/l/_nvpRnfpAQaKz

metres of air to breathe. Find the height of

the cone.

° Watch Video Solution

64. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution



https://dl.doubtnut.com/l/_nvpRnfpAQaKz
https://dl.doubtnut.com/l/_B98KrsnvoOuh

65. A conical vessel whose internal radius is 5
cm and height 24 cm is full of water. The water
is emptied into a cylindrical vessel with
internal radius 10 cm. Find the height to which

the water rises.

o Watch Video Solution

66. The volume of a cone is 18480cm?. If the
height of the cone is 40cm. Find the radius of

its base.

| & I


https://dl.doubtnut.com/l/_7mx5BEfnTu5B
https://dl.doubtnut.com/l/_du7coPiQuki6

| ¥ Watch Video Solution |

67. The base radii of two right circular cones of
the same height are in the ratio 3:5. Find the

ratio of their volumes.

o Watch Video Solution

68. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.


https://dl.doubtnut.com/l/_du7coPiQuki6
https://dl.doubtnut.com/l/_SxPuBViEBKRF
https://dl.doubtnut.com/l/_X7reis7P21Ja

° Watch Video Solution

69. If h, c, V are respectively the height, the

curved surface and the volume of a cone,

prove that 37Vh® — C?h* + 9V?% = 0.

° Watch Video Solution

70. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side

12cm. Find the volume of the solid so formed.


https://dl.doubtnut.com/l/_X7reis7P21Ja
https://dl.doubtnut.com/l/_P0OWwAgTZJnc
https://dl.doubtnut.com/l/_GUYvuHy7di1R

If the triangle ABC is revolved about side 5cm,
then find the volume of the solid so obtained.
Find also the ratio of the volumes of the two

solids obtained.

° Watch Video Solution

71. A cone of a radius 5 cm is filled with water.
If the water poured in a cylinder of radius
10cm, the height of the water rises 2 cm, find

the height of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_GUYvuHy7di1R
https://dl.doubtnut.com/l/_G3yXyqpLEouQ

72. The curved surface area of a right circular
cylinder of height 14 cm is 88 em?. Find the

diameter of the base of the cylinder.

° Watch Video Solution

73. The ratio between the curved surface area
and the total surface area of a right circular
cylinder is 1:2. Find the ratio between the

height and radius of the cylinder.

l O Watch Video Solution


https://dl.doubtnut.com/l/_G3yXyqpLEouQ
https://dl.doubtnut.com/l/_p171iAfARQmr
https://dl.doubtnut.com/l/_au5omOzrAWkE

74.Savitri had to make a model of a cylindrical
Kaleidoscope for her science project. She
wanted to use chart paper to make the curved
surface of the Kaleidoscope. What should be
the area of chart paper required by her, if she
wanted to make a Kaleidoscope of length 25

cm with a 3.5 cm radius?

o Watch Video Solution



https://dl.doubtnut.com/l/_au5omOzrAWkE
https://dl.doubtnut.com/l/_FHTdL96hzlaI

75. An iron pipe 20 cm long has exterior
diameter equal to 25cm. If the thickness of the

pipe is 1cm, find the whole surface of the pipe.

o Watch Video Solution

76. The radii of two right circular cylinders are
in the ratio 2:3 and their heights are in the
ratio 5:4. Calculate the ratio of their curved

surface areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_BUhXsDUFgMhR
https://dl.doubtnut.com/l/_pu2jRq6vdtZA

77. A rectangular sheat of paper 44cm x 18cm
is rolled along its length and a cylinder is

formed. Find the radius of the cylinder.

° Watch Video Solution

78. The diameter of a garden roller is 1.4m and

it is 2m long. How much area will it cover in 5

22

revolutions? (Use T = 7)

o Watch Video Solution



https://dl.doubtnut.com/l/_pu2jRq6vdtZA
https://dl.doubtnut.com/l/_gG2n1Y3lOEXN
https://dl.doubtnut.com/l/_3esTMCwpDwSz

79. The diameter of a roller 120cm long is
84cm. If it takes 500 complete revolutions to
level a playground, determine the cost of
levelling it at the rate of 30 paise per square

metre.

o Watch Video Solution

80. A metal pipe is 77cm long. The inner
diameter of a cross section is 4cm, the outer

diameter being 4.4 cm. Find its inner curved


https://dl.doubtnut.com/l/_ttL5GDMklq4g
https://dl.doubtnut.com/l/_S2Q2nGaWYoWN

surface area outer curved surface area (iii)

total surface area

° Watch Video Solution

81. In Fig. 1312, you see the frame of a
lampshade. It is to be covered with a
decorative cloth. The frame has a base
diameter of 20 cm and height of 30 cm. A
margin of 2.5 cm is to be given for folding it

over the top and bottom of the frame. Find

° Watch Video Solution



https://dl.doubtnut.com/l/_S2Q2nGaWYoWN
https://dl.doubtnut.com/l/_D01V5RikhDvd

82. Curved surface area of a right circular
cylinder is 4. 4 m?. If the radius of the base of

the cylinder is 0.7m, find its height.

° Watch Video Solution

8. In a hot water heating system, there is a
cylindrical pipe of length 28m and diameter
5cm. Find the total radiating surface in the

system.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_D01V5RikhDvd
https://dl.doubtnut.com/l/_FClSpyJVIFol
https://dl.doubtnut.com/l/_zisH0YXAjbr5

84. A cylindrical pillar is 50cm in diameter and
3.5m in height. Find the cost of painting the
curved surface of the pillar at the rate of Rs.

12. 50 per m?.

° Watch Video Solution

85. It is required to make a closed cylindrical

tank of height 1m and base diameter 140cm


https://dl.doubtnut.com/l/_zisH0YXAjbr5
https://dl.doubtnut.com/l/_Hin0B9ur494b
https://dl.doubtnut.com/l/_Y60h5uPgGCtD

from a metal sheet. How many square metres

of the sheet are required for the same?

o Watch Video Solution

86. A solid cylinder has total surface area of
462 em?. Its curved surface area is one-third of
its total surface area. Find the radius and

height of the cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y60h5uPgGCtD
https://dl.doubtnut.com/l/_uVidI3sCAzeU

87. The total surface area of a hollow cylinder
which is open from both sides is 4620 sq. cm
area of base ring is 115.5 sq. cm and height 7

cm. Find the thickness of the cylinder.

o Watch Video Solution

88. A cylindrical vessel, without lid, has to be
tin-coated on its both sides. If the radius of

the base is 70cm and its height is 14m,


https://dl.doubtnut.com/l/_ZzMaK3XZwc6w
https://dl.doubtnut.com/l/_KeMhOlZr9Y89

calculate the cost of tin-coating at the rate of

Rs. 3.50 per 1000 cm?

° Watch Video Solution

89. The inner diameter of a circular well is
3.5m. It is 10m deep find: inner curved surface
area. the cost of plastering this curved surface

at the rate of Rs. 40 per m?>.

o Watch Video Solution



https://dl.doubtnut.com/l/_KeMhOlZr9Y89
https://dl.doubtnut.com/l/_R72pcOECriNo

90. Find the lateral curved surface area of a
cylindrical petrol storage tank that is 4.2 m in
diameter and 4.5 m high. How much steel was
actually used, if T of steel actually used was

wasted in making the closed tank?

o Watch Video Solution

91. The students of a Vidyalaya were asked to
participate in a competition for making and

decorating pen holders in the shape of a


https://dl.doubtnut.com/l/_IPrSbDSBSUYl
https://dl.doubtnut.com/l/_f5Hrfnnt3UXV

cylinder with a base, using cardboard. Each
pen holder was to be of radius 3cm and height
10.5cm. The Vidyalaya was to supply the
competitors with cardboard. If there were 35
competitors, how much cardboard was

required to be bought for the competition?

o Watch Video Solution

92. The diameter of roller 1.5m long is 84cm. If

it takes 100 revolutions to level a playground,


https://dl.doubtnut.com/l/_f5Hrfnnt3UXV
https://dl.doubtnut.com/l/_jLgoKi9ITNZE

find the cost of levelling this ground at the

rate of 50 paise per square metre.

° Watch Video Solution

93. Twenth cylindrical pillars of the Parliament
House are to be cleaned. If the diameter of
each pillar is 0.50 cm and height is 4m. What
will be the cost of cleaning them at the rate of

Rs. 2.50 per square metre?

° Watch Video Solution



https://dl.doubtnut.com/l/_jLgoKi9ITNZE
https://dl.doubtnut.com/l/_PGYMp6xsSgr8
https://dl.doubtnut.com/l/_oWtl89mD4cch

94. Find the volume of a right circular cylinder,
if the radius (r) of its base and height (h) are

7cm and 15cm respectively.

° Watch Video Solution

95. The area of the base of a right circular
cylinder is 154 cm? and its height is 15cm. Find

the volume of the cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_oWtl89mD4cch
https://dl.doubtnut.com/l/_KzLSRopifb9C
https://dl.doubtnut.com/l/_Jcx4HQBGmkEL

96. The circumference of the base of a cylinder
is 132 cm and its height 25 cm. Find the

volume of the cylinder.

° Watch Video Solution

97. The thickness of a hollow wooden cylinder
is 2cm. It is 35cm long and its inner radius is
12cm. Find the volume of the wood required to
make the cylinder, assuming it is open at

either end.

° Watch Video Solution



https://dl.doubtnut.com/l/_Jcx4HQBGmkEL
https://dl.doubtnut.com/l/_H4eaFUn2fURO

98. The thickness of a metallic tube is 1cm and
the inner diameter of the tube is 12cm. Find
the mass of 1m long tube, if the density of the

metal be 7. 8 gm / cm?

o Watch Video Solution

99. A cylindrical road roller made of iron is Tm
wide. Its inner diameter is 54cm and thickness

of the iron sheet rolled into the road roller is


https://dl.doubtnut.com/l/_H4eaFUn2fURO
https://dl.doubtnut.com/l/_4aVZzvyQHv00
https://dl.doubtnut.com/l/_KMs4hLAD31py

9cm. Find the weight of the roller if 1c.c. of iron

weights8 gm.

° Watch Video Solution

100. The circumference of the base of a
cylindrical vessel is 132 cm and its height is

25cm. How many litres of water can it hold?

° Watch Video Solution



https://dl.doubtnut.com/l/_KMs4hLAD31py
https://dl.doubtnut.com/l/_srvui7z8hNpC

101. The volume of a solid cylinder is 448 wem?

and height 7cm. Find its lateral surface area

and total surface area.

o Watch Video Solution

102. If the radius of the base of a right circular
cylinder is halved, keeping the height same,
what is the ratio of the volume of the reduce

cylinder to that of the original.

o Watch Video Solution



https://dl.doubtnut.com/l/_yEXPz6qbBENO
https://dl.doubtnut.com/l/_XcRvHVWF1x7z

103. The radius and height of a cylinder are in

the ratio 5 : 7 and its volume if 550 ¢m?. Find

22

its radius. (Use T = 7)

o Watch Video Solution

104. A solid cylinder has total surface area of
462 square cm. Its curved surface area is one-

third of its total surface area. Find the volume

22
of the cylinder. (Ta,ke ™= 7)

l o Watch Video Solution


https://dl.doubtnut.com/l/_XcRvHVWF1x7z
https://dl.doubtnut.com/l/_YZKEgsHDL2UZ
https://dl.doubtnut.com/l/_ziLhixeo5ljC

105. Into a circular drum of radius 4.2 m and
height 3.5m, how many full bags of wheat can
be emptied if the space required for wheat in

each bag is 2.1 cubic m. (T'ake m = 3. 14)

o Watch Video Solution

106. How many cubic metres of earth must be
dug out to sink a well 22.5m deep and of

diameter 7m? Also, find the cost of plastering


https://dl.doubtnut.com/l/_ziLhixeo5ljC
https://dl.doubtnut.com/l/_pDprMtKeAu9d
https://dl.doubtnut.com/l/_hGfLxggIbrOc

the inner curved surface at Rs. 3 per square

metre.

° Watch Video Solution

107. The volume of metallic cylindrical pipe is
748 cm®. Its length is 14cm and its external

radius is 9cm. Find its thickness.

° Watch Video Solution



https://dl.doubtnut.com/l/_hGfLxggIbrOc
https://dl.doubtnut.com/l/_4Z0pt8RoXadW

108. A hollow cylindrical pipe is 21 dm long. It
outer and inner diameters are 10cm and 6cm
respectively. Find the volume of the copper

used in making the pipe.

o Watch Video Solution

109. The difference between outside and inside

surfaces of a cylindrical metallic pipe 14cm

2

long is 44 cm”. If the pipe is made 99 cu


https://dl.doubtnut.com/l/_QNu1hffMt0AQ
https://dl.doubtnut.com/l/_dRvwpdkLtQTI

centimetres of metal, find the outer and inner

radii of the pipe.

° Watch Video Solution

110. Find the weight of a lead pipe 3.5m long, if
the external diameter of the pipe is 2.4cm and
the thickness of the lead is 2mm and 1 cubic

cm of lead weighs 11 gm.

o Watch Video Solution



https://dl.doubtnut.com/l/_dRvwpdkLtQTI
https://dl.doubtnut.com/l/_s8lzG7jSyiR4

111. A well with 10m inside diameter is dug 14m
deep. Earth taken out of it is spread all around
to a width of 5m to form an embankment. Find

the height of embankment.

o Watch Video Solution

112. It costs Rs. 2200 to paint the inner curved
surface of a cylindrical vessel 10m deep. If the
cost of painting is at the rate of

Rs.20 per m?, find: radius of the base inner


https://dl.doubtnut.com/l/_mZqst3ZDa8Qy
https://dl.doubtnut.com/l/_cs8ubvyP90JZ

curved surface area of the vessel capacity of

the vessel

° Watch Video Solution

113. The cost of painting the total outside
surface of a closed cylindrical oil tank at 60
paise per sq. dm is Rs. 237.60. The height of
the tank is 6 times the radius of the base of
the tank. Find its volume correct to two

decimal places.

° Watch Video Solution



https://dl.doubtnut.com/l/_cs8ubvyP90JZ
https://dl.doubtnut.com/l/_qM3H4cDuhmRx

14. A lead pencil consists of a cylinder of
wood with a solid cylinder of graphite filled
into it. The diameter of the pencil is 7mm, the
diameter of the graphite is Tmm and the
length of the pencil is 14cm. Find the: (i)
Volume of the graphite (ii) Volume of the
wood (iii) The weight of the whole pencil, if the
specific gravity of the wood is 0.7 gm /cm?

and that of the graphite is 2. 1 gm /cm?

o Watch Video Solution



https://dl.doubtnut.com/l/_qM3H4cDuhmRx
https://dl.doubtnut.com/l/_6ubrSpJUJvIB
https://dl.doubtnut.com/l/_FRcoqXF7sWqj

115. At a Ramzan Mela, a stall keeper in one of
the food stalls has large cylindrical vessel of
base radius 15cm filled up to a height of 32cm
with orange juice. The juice is filled in small
cylindrical glasses of radius 3cm upto a height
of 8cm, and sold for Rs. 3 each. How much
money does the stall keeper receive by selling

the juice completely?

o Watch Video Solution



https://dl.doubtnut.com/l/_FRcoqXF7sWqj

116. A soft drink is available in two packs - (i) a
tin can with a rectangular base of length 5cm
and width 4cm, having a height of 15cm and
(i) a plastic cylinder with circular base of
diameter 7cm and height 10cm. Which
container has greater capacity and by how

much?

o Watch Video Solution



https://dl.doubtnut.com/l/_RZ2U8LgwKrnQ

117. The pillars of a temple are cylindrically
shaped. If each pillar has a circular base of
radius 20cm and height 10m. How much
concrete mixture would be required to build

14 such pillars?

o Watch Video Solution

118. The inner diameter of a cylindrical wooden
pipe is 24cm and its outer diameter is 28cm.

The length of the pipe is 35cm. Find the mass


https://dl.doubtnut.com/l/_cga9IvXZ86Jq
https://dl.doubtnut.com/l/_roroGHbR1vvk

of the pipe, if 1 cm? of wood has a mass of 0.6

gm.

° Watch Video Solution

19. If the lateral surface of a cylinder is
94.2cm?® and its heights is 5cm, find:
[Use m = 3. 14] radius of its base (ii) volume

of the cylinder

o Watch Video Solution



https://dl.doubtnut.com/l/_roroGHbR1vvk
https://dl.doubtnut.com/l/_PqBOU8J3IPgF

120. The capacity of a closed cylindrical vessel
of height 1m is 15.4 litres. How many square
metres of metal sheet would be needed to

make it?

o Watch Video Solution

121. A patient in a hospital is given soup daily
in a cylindrical bowl of diameter 7cm. If the

bowl is filled with soup to a height of 4cm,


https://dl.doubtnut.com/l/_UkjlmIz2cXQs
https://dl.doubtnut.com/l/_Rzw6osCCswQX

how much soup the hospital has to prepare

daily to serve 250 patients?

° Watch Video Solution

122. A hollow garden roller, 63cm wide with a
girth of 440 cm, is made of 4 cm thick iron.

Find the volume of the iron.

° Watch Video Solution



https://dl.doubtnut.com/l/_Rzw6osCCswQX
https://dl.doubtnut.com/l/_OWMT8zjqwBBW

123. A solid cylinder has a total surface area of
231 em?. Its curved surface area is § of the
total surface area. Find the volume of the

cylinder.

o Watch Video Solution

124. The cost of painting the total outside
surface of closed cylindrical oil tank at 50
paise per square decimetre is Rs. 198. The

heights of the tank is 6 times the radius of the


https://dl.doubtnut.com/l/_KsDaO9uJZxrz
https://dl.doubtnut.com/l/_YXm9t2efdfYL

base of the tank. Find the volume corrected to

2 decimal places.

° Watch Video Solution

125. The radii of two cylinders are in the ratio
2:3 and their heights are in the ratio 5:3.
Calculate the ratio of their volumes and the

ratio of their curved surfaces.

o Watch Video Solution



https://dl.doubtnut.com/l/_YXm9t2efdfYL
https://dl.doubtnut.com/l/_AAizbhUJsUFl

126. The ration between the curved surface
area and the total surface area of a right
circular cylinder is 1:2. Find the volume of the

cylinder, if its total surface area is 616 cm?.

o Watch Video Solution

127. The curved surface area of a cylinder is
1320 em® and its base had diameter 21cm.

Find the height and the volume of the cylinder.

o Watch Video Solution



https://dl.doubtnut.com/l/_H77RPvCDbkhn
https://dl.doubtnut.com/l/_YWXMjzQLuEHW

128. The ratio between the radius of the base
and the height of a cylinder is 2:3, find the
total surface area of the cylinder, it its volume

is 1617 cm?®

o Watch Video Solution

129. A rectangular sheet of paper,
44cm X 20cm, is rolled along its length to
form a cylinder. Find the volume of the

cylinder so formed.


https://dl.doubtnut.com/l/_YWXMjzQLuEHW
https://dl.doubtnut.com/l/_qfKkvXI5SijC
https://dl.doubtnut.com/l/_CV5o1NGcJ6fL

° Watch Video Solution

130. The curved surface area of a cylindrical
pillar is 264 m? and its volume is 924 m?> . Find

the diameter and the height of the pillar.

° Watch Video Solution

131. Two circular cylinders of equal volumes
have their heights in the ratio 1:2. Find the

ratio of their radii.

| e |


https://dl.doubtnut.com/l/_CV5o1NGcJ6fL
https://dl.doubtnut.com/l/_TT2BeehzqFB9
https://dl.doubtnut.com/l/_TDDqwNsJK5EH

& Wwatch Video Solution I

132. The height of a right circular cylinder is
10.5 m. Three times the sum of the area of its
two circular faces is twice the area of the
curved surface. Find the volume of the

cylinder.

° Watch Video Solution

133. How many cubic metres of earth must be

dogout to sink a well 2Im deep and 6m


https://dl.doubtnut.com/l/_TDDqwNsJK5EH
https://dl.doubtnut.com/l/_ALpy50pKgdJ2
https://dl.doubtnut.com/l/_WJknyt08bK3Y

diameter? Find the cost of plastering the inner

surface of the well of Rs. 9. 50 per m?.

° Watch Video Solution

134. The trunk of a tree is cylindrical and its
circumference is 176cm. If the length of the
trunk is 3m. Find the volume of the timber

that can be obtained from the trunk.

o Watch Video Solution



https://dl.doubtnut.com/l/_WJknyt08bK3Y
https://dl.doubtnut.com/l/_ZUz2ggRC1gxX

135. A well with 14m diameter is dug 8m deep.
The earth taken out of it has been evenly
spread all around it to a width of 21m to form
as embankment. Find the height of the

embankment.

o Watch Video Solution

136. The difference between inside and outside

surfaces of a cylindrical tube 14cm long is


https://dl.doubtnut.com/l/_c4bBUUKLjlDM
https://dl.doubtnut.com/l/_BJdcvCpBYMWx

88sq. cm. If the volume of the tube is 176 cubic

cm, find the inner and outer radii of the tube.

° Watch Video Solution

137. Water flows out through a circular pipe
whose internal diameter is 2cm, at the rate of
6 metres per second into a cylindrical tank.
The water is collected in a cylindrical vessel
radius of whose base is 60cm. Find the rise in

the level of water in 30 minutes?

° Watch Video Solution



https://dl.doubtnut.com/l/_BJdcvCpBYMWx
https://dl.doubtnut.com/l/_c8fsF7q2cmdC

138. A cylindrical container with diameter of
base 56cm contains sufficient water to
submerge a rectangular solid of iron with
dimensions 32cm x 22c¢cm x 14cm- Find the
rise in the level of the water when the solid is

completely submerged.

o Watch Video Solution

139. A cylindrical tube, open at both ends, is

made of metal. The internal diameter of the


https://dl.doubtnut.com/l/_c8fsF7q2cmdC
https://dl.doubtnut.com/l/_wcdV2qVR4VDF
https://dl.doubtnut.com/l/_4wLc0HJgyFE3

tube is 104 cm and its length is 25cm. The
thickness of the metal is 8mm everywhere.

Calculate the volume of the metal.

o Watch Video Solution

140. From a tap of inner radius 0.75cm, water
flows at the rate of 7m per second. Find the
volume in litres of water delivered by the pipe

in one hour.

° Watch Video Solution



https://dl.doubtnut.com/l/_4wLc0HJgyFE3
https://dl.doubtnut.com/l/_JYq6nDtGOxvg
https://dl.doubtnut.com/l/_OaOjCe4xckry

141. A cylindrical water tank of diameter 1.4m
and height 2.Im is being fed by a pipe of
diameter 3.5cm through which water flows at
the rate of 2 metre per second. In how much

time the tank will be filled?

o Watch Video Solution

142. A rectangular sheet of paper
30cm x 18cm can be transformed into the
curved surface of a right circular cylinder in

two ways i.e, either by rolling the paper along


https://dl.doubtnut.com/l/_OaOjCe4xckry
https://dl.doubtnut.com/l/_wF9spTbR4i79

its length or by rolling it along its breadth.
Find the ratio of the volumes of the two

cylinders thus formed.

o Watch Video Solution

143. How many litres of water flow out of a
pipe having an area of cross-section of 5 cm?

in one minute, if the speed of water in the

pipe is 30 cm / sec ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wF9spTbR4i79
https://dl.doubtnut.com/l/_ePidqIFfIlRv
https://dl.doubtnut.com/l/_lKIKTjGvSDYi

144. The sum of the radius of the base and
height of a solid cylinder is 37m. If the total
2

surface area of the solid cylinder is 1628 cm~.

Find the volume of the cylinder.

o Watch Video Solution

145. Find the cost of sinking a tubewell 280m
deep, having diameter 3m at the rate of Rs.
3.60 per cubic metre. Find also the cost of
cementing its inner curved surface at Rs. 2.50

per square metre.


https://dl.doubtnut.com/l/_lKIKTjGvSDYi
https://dl.doubtnut.com/l/_GkHT0qoD8Fxg

° Watch Video Solution

146. Find the length of 13.2 kg of copper wire
of diameter 4mm, when 1 cubic cm of copper

weights 8.4 gm.

° Watch Video Solution

147. A well with 10m inside diameter is dug
8.4m deep. Earth taken out of it is spread all

around it to a width of 7.5m to form an


https://dl.doubtnut.com/l/_GkHT0qoD8Fxg
https://dl.doubtnut.com/l/_t4NrfegmR8IB
https://dl.doubtnut.com/l/_zmw4nqEJojHO

embankment. Find the height of the

embankment.

° Watch Video Solution

148. Write the number of surfaces of right

circular cylinder

o Watch Video Solution

149. Write the ratio of total surface area to the

surface area of a cylinder of radius r and


https://dl.doubtnut.com/l/_zmw4nqEJojHO
https://dl.doubtnut.com/l/_0P3Y0KPdZ4WS
https://dl.doubtnut.com/l/_8QzvKx3IfT0D

height h

o Watch Video Solution

150. The ratio between the radius of the base
of height of a cylinder is 2:3. If its volume is
1617 em?, find the total surface area of the

cylinder.

° Watch Video Solution



https://dl.doubtnut.com/l/_8QzvKx3IfT0D
https://dl.doubtnut.com/l/_BWmqFKbmewD3

151. If the radii of two cylinders are in the ratio
2:3 and their heights are in the ratio 5:3, then

find the ratio of their volumes.

o Watch Video Solution

152. In a cylinder, if radius is doubled and
height is halved, curved surface area will be (a)
halved (b) doubled (c) same (d)

four times

° Watch Video Solution



https://dl.doubtnut.com/l/_VPZUzwJNexQX
https://dl.doubtnut.com/l/_lsMAIuuA9zv4

153. Two cylindrical jars have their diameters in
the ratio 3:1, but height 1:3. Then the ratio of
their volumes is (a) 1:4 (b) 1:3 (c)

3:1 (d) 2:5

o Watch Video Solution

154. The number of surfaces in right cylinder is

(@)1 (b) 2 (c) 3 (d) 4

° Watch Video Solution



https://dl.doubtnut.com/l/_lsMAIuuA9zv4
https://dl.doubtnut.com/l/_5JM9CAglM90Y
https://dl.doubtnut.com/l/_CHU1YuJm7xfP

155. Vertical cross-section of a right circular
cylinder is always a (a) square (b)

rectangle (c) rhombus (d) trapezium

o Watch Video Solution

156. If r is the radius and h is height of the

cylinder the volume will be (a) §7r2h (b) mr’h

(c) 2wr (h + ) (d) 27rh

o Watch Video Solution



https://dl.doubtnut.com/l/_cIAcV2KdAlza
https://dl.doubtnut.com/l/_yQL1aCujcqBt
https://dl.doubtnut.com/l/_2iIFyREgn1jy

157. The number of surfaces of a hollow

cylindrical object is (a) 1 (b) 2

o Watch Video Solution

158. If the radius of a cylinder is doubled and

the height remains same, the volume will be
(a) doubled (b) halved (c) same

(d) four times

° Watch Video Solution



https://dl.doubtnut.com/l/_2iIFyREgn1jy
https://dl.doubtnut.com/l/_JOSDSyvw5P4R

159. If the height of a cylinder is doubled and
radius remains the same, then volume will be
(a) doubled

(b) halved

(c) same

(d) four times

o Watch Video Solution

160. In a cylinder, if radius is halved and height

is doubled, the volume will be same (b)


https://dl.doubtnut.com/l/_kpiJnsmRPJkT
https://dl.doubtnut.com/l/_Nr4FzvaQBsMP

doubled (d) halved (d) four times

o Watch Video Solution

161. If the height of a cylinder is doubled, by
what number must the radius of the base be
multiplied so that the resulting cylinder has

the same volume as the original cylinder? (a) 4

1
(b) E (2(d) 5

o Watch Video Solution



https://dl.doubtnut.com/l/_Nr4FzvaQBsMP
https://dl.doubtnut.com/l/_d9tex2jUjE6F

1
162. The volume of a cylinder of radius 7 is 1

of the volume of a rectangular box with a
square base of side length z. If the cylinder

and the box have equal heights, what is r in

x? T V2

terms of 7 (@) — (b) (c)

2T Zﬁ 7

(d)

s

2vz

o Watch Video Solution

163. The height h of cylinder equals the

circumference of the cylinder. In terms of h,


https://dl.doubtnut.com/l/_TTWo57Lw8LW3
https://dl.doubtnut.com/l/_cYxwmqAAMCzX

h3
what is the volume of the cylinder? (a) - (b)

h? h3
() =

n 3
5 5 (d) mh

o Watch Video Solution

164. A cylinder with radius r and height h is
closed on the top and bottom. Which of the
following expressions represents the total

surface area of this cylinder? (a) 2nr (r + h)

(b) 7 (r + 2h) (c) mr (2r + h) (d) o2omr? + h

o Watch Video Solution



https://dl.doubtnut.com/l/_cYxwmqAAMCzX
https://dl.doubtnut.com/l/_uDLpN6MbGAbR
https://dl.doubtnut.com/l/_R2VDzKAu7EMh

165. The height of sand in a cylindrical-shaped
can drops 3 inches when 1 cubic foot of sand is

poured out. What is the diameter, in inches, of

24 48 32
the cylinder? (a) — (b) ) —
f

VAN

o Watch Video Solution

166. If the diameter of the base of a closed
right circular cylinder be equal to its height h,

then its whole surface area is (a) 27h® (b)

3 o 4 2
Ewh (c) §7Th (d) wh

| I


https://dl.doubtnut.com/l/_R2VDzKAu7EMh
https://dl.doubtnut.com/l/_Bqfx1zIozQSN

| ¥ Watch Video Solution |

167. A right circular cylindrical tunnel of
diameter 2m and length 40m is to be
constructed from a sheet of iron. The area of
the iron sheet required in mz, is (a) 407 (b)

807 (c) 1607 (d) 2007

o Watch Video Solution

168. Two sheet sheets each of length a; and

breadth a, are used to prepare the surfaces of


https://dl.doubtnut.com/l/_Bqfx1zIozQSN
https://dl.doubtnut.com/l/_0Q9nGLT1iM3P
https://dl.doubtnut.com/l/_M4GxtLl7d5lz

two right circular cylinders - one having
volume v; and height ay and other having

volume vy and height a;- Then, (a) v; = vy (b)

V2

V1
a1V1 = Q93 (C) asv; = aqvs (d) poation
1 2

° Watch Video Solution

169. Two circular cylinder of equal volume have
their heights in the ratio 1:2. Ratio of their

radiiis (@) 1: /2 (b) v/2: 1 (c) 1:2(d) 1:4

° Watch Video Solution



https://dl.doubtnut.com/l/_M4GxtLl7d5lz
https://dl.doubtnut.com/l/_3P4abV1qa8MM
https://dl.doubtnut.com/l/_hwKJ4eApbhmu

170. The radius of a wire is decreased to one-
third. If volume remains the same, the length
will become 3 times (b) 6 times (c) 9

times (d) 27 times

o Watch Video Solution

171. The altitude of a circular cylinder is

increased six times and the base area is

decreased one-ninth of its value. The factor by

which the lateral surface of the cylinder
2 3

. . 1
increases, is 3 (b) B (c) 5 (d) 2


https://dl.doubtnut.com/l/_hwKJ4eApbhmu
https://dl.doubtnut.com/l/_cNND7PVaVtPS

° Watch Video Solution

172. The diameter of a cone is 14cm and its
slant height is 9cm. Find the area of its curved

surface.

° Watch Video Solution

173. Find the total surface area of a cone, if its
slant height is 9m and the radius of its base is

12m.

| e |


https://dl.doubtnut.com/l/_cNND7PVaVtPS
https://dl.doubtnut.com/l/_xohwI7rs7rgh
https://dl.doubtnut.com/l/_ziRtsZ5mKBeK

& Wwatch Video Solution I

174. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

° Watch Video Solution

175. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

l a Watch Video Solution l


https://dl.doubtnut.com/l/_ziRtsZ5mKBeK
https://dl.doubtnut.com/l/_FqNPXUeQ1yJZ
https://dl.doubtnut.com/l/_NIPOQI5zWO7J

176. The circumference of the base of a 10m
high conical tent is 44 metres. Calculate the

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

° Watch Video Solution

177. How many metres of cloth 5m wide will be

required to make a conical tent, the radius of


https://dl.doubtnut.com/l/_NIPOQI5zWO7J
https://dl.doubtnut.com/l/_i5yik3rc5BVn
https://dl.doubtnut.com/l/_1Jaq8qGAXV4Y

whose base is 7m and whose height is 24m?

Tak _22
aeﬂ'—T

° Watch Video Solution

178. The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_1Jaq8qGAXV4Y
https://dl.doubtnut.com/l/_QGO1aWkyFmM4

179. The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface.

o Watch Video Solution

180. A corn cob (see in figure), shaped
somewhat like a cone, has the radius of its
broadest end as 2.1 cm and length as 20cm. If

each 1 em? of the surface of the cob carries an


https://dl.doubtnut.com/l/_D4VJcEwibmAg
https://dl.doubtnut.com/l/_E5MprBpqWnkr

average of four grains, find how many grains

you would find on the entire cob?

° Watch Video Solution

181. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

| e |


https://dl.doubtnut.com/l/_E5MprBpqWnkr
https://dl.doubtnut.com/l/_EyVM0t4zW5nN

& Wwatch Video Solution I

182. Find the curved surface area of a cone, if
its slant height is 60cm and the radius of its

base is 21cm.

° Watch Video Solution

183. The radius of a cone is 5cm and vertical
height is 12cm. Find the area of the curved

surface.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_EyVM0t4zW5nN
https://dl.doubtnut.com/l/_LZf4Xmq5gay4
https://dl.doubtnut.com/l/_7ZqV90PetxgP

184. The radius of a cone 7cm and area of

2

curved surface is 176 em” . Find the slant

height.

° Watch Video Solution

185. The height of a cone is 21cm. Find the area

of the base if the slant height is 28cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_7ZqV90PetxgP
https://dl.doubtnut.com/l/_viogNfh2IMN5
https://dl.doubtnut.com/l/_Yqu27CyWV90O
https://dl.doubtnut.com/l/_mdQHz7rcLLjx

186. Find the total surface area of a right

circular cone with radius 6cm and height 8cm.

° Watch Video Solution

187. Find the curved surface area of a cone
with base radius 5.25cm and slant height

10cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_mdQHz7rcLLjx
https://dl.doubtnut.com/l/_fjC3l68s9JRk

188. Find the total surface area of a cone, if its
slant height is 21 m and diameter of its base is

24 m.

o Watch Video Solution

189. The area of the curved surface of a cone is
607 cm?. If the slant height of the cone be

8cm, find the radius of the base.

o Watch Video Solution



https://dl.doubtnut.com/l/_tdgIFRf2JkT5
https://dl.doubtnut.com/l/_vr1Hyo1phALu
https://dl.doubtnut.com/l/_HRbO2xdl1ljC

190. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (Useﬂ = 7)

° Watch Video Solution

191. A joker’s cap is in the form of a right
circular cone of base radius 7 cm and height
24 c¢cm. Find the area of the sheet required to

make 10 such caps.

° Watch Video Solution



https://dl.doubtnut.com/l/_HRbO2xdl1ljC
https://dl.doubtnut.com/l/_hnJQOrkTFvdd

192. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

193. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution



https://dl.doubtnut.com/l/_4RYEFcY1EMTE
https://dl.doubtnut.com/l/_UJCkGcq5VwcR

194. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of their curved surfaces.

° Watch Video Solution

195. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_UJCkGcq5VwcR
https://dl.doubtnut.com/l/_k0wZD4Kc4UXA
https://dl.doubtnut.com/l/_Rx2pSIBpbw28

196. The slant height and base diameter of a
conical tomb are 25m and 14m respectively.
Find the cost of white-washing its curved

surface at the rate of Rs. 210 per 100 m?

o Watch Video Solution

197. A conical tent is 10m high and the radius
of its base is 24m. Find the slant height of the

tent. If the cost of 1m? canvas is Rs. 70, find


https://dl.doubtnut.com/l/_ARaIBbWeZZUw
https://dl.doubtnut.com/l/_knKrhuZLIUrz

the cost of the canvas required to make the

tent.

° Watch Video Solution

198. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

° Watch Video Solution



https://dl.doubtnut.com/l/_knKrhuZLIUrz
https://dl.doubtnut.com/l/_CkAzQdI0qHec

199. A circus tent is cylindrical to a height of 3
metres and conical above it. If its diameter is
105m and the slant height of the conical
portion is 53m, calculate the length of the

canvas 5m wide to make the required tent.

o Watch Video Solution

200. The circumference of the base of a 10m

high conical tent is 44 metres. Calculate the


https://dl.doubtnut.com/l/_CkAzQdI0qHec
https://dl.doubtnut.com/l/_GhvsODh43KrH
https://dl.doubtnut.com/l/_G8z9sTd6rVuC

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution

201. What length of tarpaulin 3m wide will be
required to make a conical tent of height 8m
and base radius 6m? Assume that the extra
length of material will be required for
stitching margins and wastage in cutting is

approximately 20 cm (Use w = 3. 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_G8z9sTd6rVuC
https://dl.doubtnut.com/l/_HaePBwatoEtK

202. A bus stop is barricaded from the
remaining part of the road, by using 50 hollow
cones made of recycled card-board. Each cone
has a base diameter of 40cm and height Tm. If
the outer side of each of the cones is to be
painted and the cost of painting is Rs. 12 per

m? , what will be the cost of painting all these

cones (Usew = 3. 14and+/1. 04 = 1. 02))

o Watch Video Solution



https://dl.doubtnut.com/l/_HaePBwatoEtK
https://dl.doubtnut.com/l/_OqGKSYLRIcGR

203. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.

o Watch Video Solution

204. Find the volume of a right circular cone

1.02m high, if the radius of its base is 28m.

° Watch Video Solution



https://dl.doubtnut.com/l/_9aK71fMa2XwS
https://dl.doubtnut.com/l/_KNzTAsGjk0Am

205. The area of the base of a right circular
cone is 314cm? and its height is 15cm. Find the

volume of the cone.

° Watch Video Solution

206. The diameter of a right circular cone is
8cm and its volume is 48 ™ ecm?®. What is its

height?

° Watch Video Solution



https://dl.doubtnut.com/l/_KNzTAsGjk0Am
https://dl.doubtnut.com/l/_l3Wr1oW1iBWu
https://dl.doubtnut.com/l/_FnQzdf7BroV7

207. The volume of a cone is 18480cm?. If the
height of the cone is 40cm. Find the radius of

its base.

o Watch Video Solution

208. The base radii of two right circular cones
of the same height are in the ratio 3:5. Find

the ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_XY1ctwzjr5pH
https://dl.doubtnut.com/l/_UTDzDlQjynok
https://dl.doubtnut.com/l/_JU8XAoYpr4L2

209. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution

210. A conical vessel whose internal radius is 5
cm and height 24cm is full of water. The water
is emptied into a cylindrical vessel with
internal radius 10cms. Find the height to

which the water rises.


https://dl.doubtnut.com/l/_JU8XAoYpr4L2
https://dl.doubtnut.com/l/_IqOMCXDk5Pje

° Watch Video Solution

211. A right triangle ABC' with its dies 5cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC' is revolved about side
5cm, then find the volume of the solid so
obtained. Find also the ratio of the volumes of

the two solids obtained.

° Watch Video Solution



https://dl.doubtnut.com/l/_IqOMCXDk5Pje
https://dl.doubtnut.com/l/_20PbcAYvYguA
https://dl.doubtnut.com/l/_DEFTSTTii1jl

212. A cone and a cylinder are having the same
base. Find the ratio of their heights if their

volumes are equal.

° Watch Video Solution

213. A cone of a radius 5cm is filled with water.
If the water poured in a cylinder of radius
10cm, the height of the water rises 2cm, find

the height of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_DEFTSTTii1jl
https://dl.doubtnut.com/l/_ipP5rAW0BsUQ
https://dl.doubtnut.com/l/_oy8BRqyHDv0P

214. A solid cube of side 7cm is melted to make
a cone of height 5cm, find the radius of the

base of the cone.

° Watch Video Solution

215. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.

° Watch Video Solution



https://dl.doubtnut.com/l/_oy8BRqyHDv0P
https://dl.doubtnut.com/l/_OAlplvSiGrnL

216. The radius and height of a cone are in the
ratio 3:4. If its volume is 301. 44 cm?, what is
its radius? What is its slant height?

(Take m = 3. 14)

o Watch Video Solution

217. If h, c, V' are respectively the height, the

curved surface and the volume of a cone,

prove that 37Vh3 — C%h? + 9V 2 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_OAlplvSiGrnL
https://dl.doubtnut.com/l/_Qr31rk4btyCg
https://dl.doubtnut.com/l/_jIE9HYZJEXzF

218. A cone of height 24cm has a curved

surface area 550cm?. Find its volume.

g 22
3677—7

o Watch Video Solution

219. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres

of the space on the ground and 20 cubic


https://dl.doubtnut.com/l/_jIE9HYZJEXzF
https://dl.doubtnut.com/l/_5j6vxBnTz42W
https://dl.doubtnut.com/l/_wC7H0deBzHwc

metres of air to breath. Find the height of the

cone.

° Watch Video Solution

220. A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

° Watch Video Solution



https://dl.doubtnut.com/l/_wC7H0deBzHwc
https://dl.doubtnut.com/l/_DUgQRxoUDfBF

221. A conical tent is 9m high and the radius of
its base is 12m. (i) What is the cost of the
canvas required to make it, if a square metre
canvas costs Rs. 107 (ii) How many persons can
be accommodated in the tent, if each person
requires 2 square metre on the ground and 15

m”3 of space to breath in?

o Watch Video Solution



https://dl.doubtnut.com/l/_Kzr4qii6EQHM

222. Find the volume of the larges right
circular cone that can be cut out of a cube

whose edge is 9cm.

o Watch Video Solution

223. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If their heights are same with the same base,

find the ratio of their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_frncG2EXH4iK
https://dl.doubtnut.com/l/_M7Rqmm8ou8dM

224. Find the volume of a right circular cone
with: (i) radius 6cm, height 7cm. (ii) radius 3.5
cm, height 12cm (iii) height 21cm and slant

height 28cm.

o Watch Video Solution

225. Find the capacity in litres of a conical
vessel with (i) radius 7 cm, slant height 25 cm

(i) height 12 cm, slant height 13 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_M7Rqmm8ou8dM
https://dl.doubtnut.com/l/_BD7grLIPWIYl
https://dl.doubtnut.com/l/_APpTXGkfGHKC

226. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution

227. The radius and the height of a right
circular cone are in the ratio 5:12. If its volume

is 314 cubic metre, find the slant height and

the radius (Use m = 3. 14)

| = 1


https://dl.doubtnut.com/l/_APpTXGkfGHKC
https://dl.doubtnut.com/l/_bqroe8kxjQD7
https://dl.doubtnut.com/l/_UsaP0ImXcjy3

I &9 Watch Video Solution I

228. The ratio of volumes of two cones is 4:5
and the ratio of the radii of their bases is 2:3.

Find the ratio of their vertical heights.

° Watch Video Solution

229. A cylinder and a cone have equal radii of
their bases and equal heights. Show that their

volumes are in the ratio 3:1.

l o Watch Video Solution


https://dl.doubtnut.com/l/_UsaP0ImXcjy3
https://dl.doubtnut.com/l/_20nuvBbdmbdw
https://dl.doubtnut.com/l/_yBFTKBBuHFBW

230. If the radius of the base of a cone is
halved, keeping the height same, what is the
ratio of the volume of the reduced cone to

that of the original.

o Watch Video Solution

231. A heap of wheat is in the form of a cone of

diameter 9m and height 3.5m. Find its volume.


https://dl.doubtnut.com/l/_yBFTKBBuHFBW
https://dl.doubtnut.com/l/_hnWmSuisJH53
https://dl.doubtnut.com/l/_6va8bYpS2kDi

How much canvas cloth is required to just

cover the heap? (Use m = 3. 14)

° Watch Video Solution

232. Find the weight of a solid cone whose
base is of diameter 14cm and vertical height
51cm, supposing the material of which it is

made weighs 10 grams per cubic cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_6va8bYpS2kDi
https://dl.doubtnut.com/l/_KCFNkvh84ZXg

233. A right angled triangle of which the sides
containing the right angle are 6.3 cm and
10cm in length, is made to turn round on the
longer side. Find the volume of the solid, thus

generated. Also, find its curved surface area.

o Watch Video Solution

234. Find the volume of the largest right
circular cone that can be fitted in a cube

whose edge is 14cm.

| & |


https://dl.doubtnut.com/l/_Z0ooilYZ9190
https://dl.doubtnut.com/l/_C9QtdZzolPmw

| ¥ Watch Video Solution |

235. The volume of a right circular cone is 9856
em? . If the diameter of the base is 28cm, find:
(i) height of the cone (ii) slant height of the

cone (iii) curved surface area of the cone.

° Watch Video Solution

236. A conical pit of top diameter 3.5m is 12m

deep. What is its capacity in kilolitres?

o Watch Video Solution



https://dl.doubtnut.com/l/_C9QtdZzolPmw
https://dl.doubtnut.com/l/_h7BZjxgEaF4O
https://dl.doubtnut.com/l/_oT1RyBaJWdAy

237. Monica has a piece of Canvas whose area
is 551m?. She uses it to have conical tent
mode, with a base radius of 7m. Assuming that
all the stitching margins and wastage incurred
while cutting, amounts to approximately 1m?.
Find the volume of the tent that can be made

with it.

o Watch Video Solution



https://dl.doubtnut.com/l/_oT1RyBaJWdAy
https://dl.doubtnut.com/l/_aiFmMGDrhElC

238.The height of a cone is 15cm. If its volume

is 5007 ¢m? |, then find the radius of its base.

° Watch Video Solution

239. If the volume of a right circular cone of
height 9 cm is 48wcm® |, find the diameter of

its base.

° Watch Video Solution



https://dl.doubtnut.com/l/_NyuaYt2Szjzi
https://dl.doubtnut.com/l/_U3SWWDjFFsGw

240. If the height and slant height of a cone
are 2lcm and 28cm respectively. Find its

volume.

o Watch Video Solution

241. The height of a conical vessel is 3.5cm. If
its capacity is 3.3 litres of milk. Find the

diameter of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_eufnooAtp9Gc
https://dl.doubtnut.com/l/_UxNgPCa6Glkn
https://dl.doubtnut.com/l/_iCcxZwjuangc

242. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

° Watch Video Solution

243. Find the area of canvas required for a

conical tent of height 24m and base radius 7m.

o Watch Video Solution



https://dl.doubtnut.com/l/_iCcxZwjuangc
https://dl.doubtnut.com/l/_vkcosq5ogCZ0

244, Find the area of metal sheet required in
making a closed hollow cone of base radius

7cm and height 24cm.

o Watch Video Solution

245.Find the length of cloth used in making a
conical pandal of height 100m and base radius

240m, if the cloth is 1007 m wide.

o Watch Video Solution



https://dl.doubtnut.com/l/_rn2GYoDo1vhF
https://dl.doubtnut.com/l/_b9iAra3CIhm3
https://dl.doubtnut.com/l/_1d6ETUD2Pw6r

246. The number of surfaces of a cone has, is

@1 ()2 (93 ()4

° Watch Video Solution

247. The area of the curved surface of a cone

of radius 2r and slant height é is a) wrl b)
1
277l C)ETFTZ d)m(r + )r

° Watch Video Solution



https://dl.doubtnut.com/l/_1d6ETUD2Pw6r
https://dl.doubtnut.com/l/_ELUDc5a4RhB9

248. The total surface area of a cone of radius

g and length 2I, is a)27r(l + r)b)
r
r (l + Z) corr(l 4+ r) d)2mrl

o Watch Video Solution

249. A solid cylinder is melted and cast into a
cone of same radius. The heights of the cone
and cylinder are in the ratio (a) 9:1 (b)

1:9 (c) 3:1 (d) 1:3

° Watch Video Solution



https://dl.doubtnut.com/l/_5LEnu9w8PjLa
https://dl.doubtnut.com/l/_0WWbVUOypcKV

250. The slant height of a cone is increased by
10%. If the radius remains the same, the

curved surface area is increased by (a) 10%

(b) 121% (c) 20% (d) 21%

o Watch Video Solution

251. The height of a solid cone is 12cm and the
area of the circular base is 64wcm®A plane
parallel to the base of the cone cuts through

the cone 9cm above the vertex of the cone ,the


https://dl.doubtnut.com/l/_0WWbVUOypcKV
https://dl.doubtnut.com/l/_nvw4c0NNO7RV
https://dl.doubtnut.com/l/_Qbsl8rmbSlL5

area of the base of the new cone so formed is

a)9mrem? b)16mem? ¢)25mem? d)36mwem?

° Watch Video Solution

252. If the radius of the base of a right circular

cone is 37 and its height is equal to the radius

1
of the base, then its volume is (a) §7r7“3 (b)
2

§7T7“3 (c)37rr3 (d)97rr3

o Watch Video Solution



https://dl.doubtnut.com/l/_Qbsl8rmbSlL5
https://dl.doubtnut.com/l/_BX1Yk8KlRP1k

253. If the volumes of two cones are in the
ratio 1:4 and their diameters are in the ratio
4.5, then the ratio of their heights, is (a)

1:5 (b) 5:4 (c) 5:16 (d) 25:64

o Watch Video Solution

254. The curved surface area of one cone is
twice that of the other while the slant height

of the latter is twice that of the former. The


https://dl.doubtnut.com/l/_7l6tZgL5Mgy6
https://dl.doubtnut.com/l/_YwBR4JNf5hdZ

ratio of their radii is (a) 2:1 (b) 4:1 (c)

8:1 (d) 1:1

° Watch Video Solution

255. If the height and radius of a cone of
volume V are doubled, then the volume of the

cone,is(a)3V(b)4V(c)eV(d) 8V

° Watch Video Solution



https://dl.doubtnut.com/l/_YwBR4JNf5hdZ
https://dl.doubtnut.com/l/_YqFUoNbgRLf9

256. The ratio of the volume of a right circular
cylinder and a right circular cone of the same
base and height, is (a) 1:3 (b) 3:1

(c) 4:3 (d) 3:4

o Watch Video Solution

257. A right circular cylinder and a right
circular cone have the same radius and the

same volume. The ratio of the height of the


https://dl.doubtnut.com/l/_I3QNqUIrle0i
https://dl.doubtnut.com/l/_Ih6g8mHg9EO3

cylinder to that of the cone is (a) 3:5 (b)

2:5 (c) 3:1 (d) 1:3

° Watch Video Solution

258. If the base radius and the height of a
right circular cone are increased by 20%, then
the percentage increase in volume s
approximately.(a) 60 (b) 68 (c) 73

(d) 78

° Watch Video Solution



https://dl.doubtnut.com/l/_Ih6g8mHg9EO3
https://dl.doubtnut.com/l/_DPGFK0vVKmy8
https://dl.doubtnut.com/l/_7M9gN4Zfgjns

259. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of their curved surfaces.

° Watch Video Solution

260. If h, SandV denote respectively the
height, curved surface area and volume of a
right circular cone, then
3rVh®> — S?h? 4+ 9V ? is equal to (a) 8 (b)0(c)

47r(d) 3272

l ° Watch Video Solution


https://dl.doubtnut.com/l/_7M9gN4Zfgjns
https://dl.doubtnut.com/l/_cL8JUZX2HsvB

261. If a cone is cut into two parts by a
horizontal plane passing through the mid-
point of its axis, the ratio of the volumes f
upper and lower partis (a) 1.2 (b) 2:1 (c)

1.7 (d) 1:8

° Watch Video Solution

262. If the heights of two cones are in the ratio

of 1:4 and the radii of their bases are in the


https://dl.doubtnut.com/l/_cL8JUZX2HsvB
https://dl.doubtnut.com/l/_tIkUchx9B70D
https://dl.doubtnut.com/l/_8BPSjqXUT3eE

ratio 4:1, then the ratio of their volumes is (a)

1:2 (b) 2:3 (c) 3:4 (d) 4:1

° Watch Video Solution



https://dl.doubtnut.com/l/_8BPSjqXUT3eE

